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The correct answer, unless clearly obtained by an incorrect method, should be taken to imply a correct method.
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The correct answer, unless clearly obtained by an incorrect method, should be taken to imply a correct method.
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or 0005
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9% 1 |BI
ai Angle at the centre is twice | 1| Bl (indep)
aii angle at the circumference
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Angle CBD = 32° or M1 angle must be
angle ABC = 90° or clearly identifed
angle DBO = 90° or cither on diagram
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angle BOD =2 = 32
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centre of the circle)
ez Ml fora
(Angle BDC =) 180° complete method

32°-90°
26 Al
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@ Angle between tangent and radius is 90°| 1| BI Accept perpendicular or right angle for 90°]
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or (y=) (180 - 90 - 46)=2

B Al
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on diagram
360 - (90 + 90+ "160") M dep for correct method to find APC
2 AT
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